
Graphing Solutions to:

Example: Graph solutions to the equation:
y = |3x − 1|

Like Ex 1 we first graph the equation without Absolute Values.
y = 3x − 1

To sketch the line, we need to find the intercepts

y−int: x = 0

x−int: y = 0

Using the intercepts, we can sketch the graph of the line

Taking the absolute value will make all y−values positive

http://coobermath.com/Graph_Shifting/Absolute_Value/Absolute_Value_2_Variables_Example1.pdf
http://www.coobermath.com/Review_and_Linear_Equations/Linear_with_2_Variables/Equations_with_2_Variables/Intercepts.pdf
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